RNETERRERERE TRNEELDTEE EEHEE [EFILr—R 1] 905 2 1
- F 2
[(EES+XEER] (H46F  FH)
HEHBEL No.| e | #a5URA | AmiH29 [Hiokre] - BN 81| W BRe5[HiW (803
1]10-335H| 0-98.05M 56. 4 55.6 55.7 55.7 bb, 7 55.7
@R EmREEDOF2A | 2| 100FH] $£166.875F| 182.3] 164.2 164.5 165.9] 165.4} 163.8
* BEWRAELITEENS 3| 2005H) #311.6AM| 370.51 326.5 321.2 330.7] 329.6] 325.4
(RDOHE L LIFEDH) 4| 3005 M| $£442.85H| 539.8] 470.4 471.2 476.9] 475.0f 468.3
A
Ne1 (FT#50-3375 ) rmex Ne2 (Fr#510075 A1) smex
600 | (FE81)+0M 185.0 IR (1581} +1,400M3
9.0 - 0 - *L
280 (F85)£0F ijgg j (BE85) 900/
570 Js64 (PR89)FHE 170.0 - (R8P HE
: + ' . 164.5 A
£6.0 - 535 55.7 55.7 55.7 557 QMESRELVE] 165.0 . 1(1 2 {iR93)A700M
55.0 - 5 160.0 N\ i
54.0 4 - I IEH 155.0 E\:‘ 2 l
£3.0 4 \ T T 1 T T T T 150.0 SN T T T T
A H30FF FH HE HE 32E A H30FF FH HE #Hu
H29 M {®) fRs1 [Rss [Bo3 H29 & (F) BR31 [Bss [Roe3
H29=F HEATOOM (A1.24%) FFEAE=FHIE +100A H2O=>FHIEA1T, 800 (A9, 76%) FFEE=>FHE +300M
7 PA=]
Ne3 (FT1520075 M) 2w Ned (FT{33005 F1) anne
0 13765 560.0 :
o I (fR81) +3,500M9 5400 L2 (BR81) +5,70073
360.0 - {FRRS) +2,400F9 5200 N (BEL85) +3,8009
350.0 4 (R89) P HE 00,0 4 R (BRRO) T HE
:gg_g : T 53 {fR93)A1,800M 430:0 ] 470.4 471.2 476.9 4750 ., - LCSEEAYEE!
3200 - R 460.0 + >
310.0 R 440.0 - e
300.0 A i . : 4200 + L W : —
AT H30KF FH RE A H¥ AT H30/F FH HE HE 2¥
H29 M (#) FRs1l BRs5 PR93 H29 i () fRai [Ras BRo3

H29=>F W A43, 300 (AT11. 69%)

Fi#E=>FHE +700M

H29=F W 3 A68, 600 (A12. 71%)

FF&#E=>THRE +800H




FHETERERERE FRIFEIMFEE $HE [ETFILA—R 2
T30 2 B
[EES+EZEES+TES] (B . FM)
Tt 4 R No.| FR18 50y A | ETH29 |H30RF X4 (3 B R81| MW (85| BN RS
110-33AH| 0-98.085H 65. 4 65. 8 65. 9 65.9 65.9 65.9
AR ER+EREDOF2A | 2] 1005H] $5166.85H 218.4| 196.8 197.2 199.2] 198.1 196. 5
*HEWAELIXTEXRMS 3| 2005H]| #5311.65M]  447.1 392.5 393. 4 398.4| 395.8| 391.6
(kOHELLIEEDH) 4| 30075M| $#442. 871 653.91 566.4 b67.6 515.7 571. 4 b64, 7
P
Nel (FT80-33 5 ) rmex Ne2 (Frf310075 A1) smex
o (B1)20M s TziEa (51 +2,000F]
68.0 (IR85) +0F 215.0 A ([85) +900F]
’ (B8 FHE 210.0 - (IR89)FHE
€7.0 65.8 659 (#R93)+08 205.0 - (1R93) A 700
66.0 +654—— 200.0 - 196.8 197.2 199.2 1981 4g5¢
65.0 -§ I 195.0 : [ I
64.0 4 190.0 AN
630 -] T T T T T T T T 185.0 @ T e T T T T T 3 T 1
# H30FF FH AN E8 H#R5 AT H30KF TH RY HE HE
H29 24 (8) Rs: PRss [R93 H29 i (3€) P81 MRss MRo3
H29=>F 33 +500M ( +0. 76%) RFEHESFHE +100H H29=>FHEA21, 200 (A9. T1%) FFE#E>FHE +4000
P =
Ne3 (Fr{52005 F ) mex No4 (FT1330077 1) mmse
4600 Taa73 {B&1) +5,000M ggg:g 653.9 (FR81) +8,100M
440.0 - (ER85) +2,400 640.0 - (BE85) +3,800H
420.0 - (Re9)FHE 620.0 (R8O FHE
' FRE93)A1,800M 0 - (BR93)A 2,900
400.0 1INY292.5 393.4 3084 3958 .o, - NS ggg_g __\Q ern 4 a7 £ 575.7 5714 ¢o0s )
| ' 560.0 1] ‘
380.0 I 540.0 ~—~:§ I
360-0 . \ T - ] 1 1 [ El T T 520.0 & T - ] 1 ¥ T T T T 1
AT H30RF FH BH BN HX AT H30KF FH HN HE X
H29 L (%) B8l [Bss PB93 H29 i (K) fR81 [Ra5 [Re3

H29=>F MR ASL3, 700 (A12.01%) FFEE=TFRNE +000M

H29=F W I AB6, 300 (A13. 20%)

FFEESTFHE +1, 200




ENHATEREEREE FRIOEERANTFER

REEHLEE [ETIT7—R 3]

, ERI0E 2 A
[EfEs+EERA] (B4 FM)
B No.| miis | &&URA | AiiH29 [hsogrsie SN [B81[HAN B85[HW o3
1]0-33/H]|0-153.05H 32.8 33.6 33.8 33.8 33.8 33.8
6oRELL LTSRS D KR 2| 100/H| 220.05H 142 .9 127.7 128.0 129. 4| 128.8] 127.2
* ERWADH 3| 2005 320.0FM| 329.4) 290.7 291.3 294.8[ 293.6] 289.5
{(XDHE L LETEDHA) 4 | 3005M| #445. 35 H 461.01 397.4 398. 2 403.8] 401.9 385.3
Ne1 (FT150-3375 F ) rmex Ne2 (AT1§10075 ) smex
36.0 145.0 1429
(fB81)40M \\\\ {fR81} +1,400/4
35.0 (FR85) 0 140.0 4 Q (FR85) +800M
23 6 33.8 33.8 338 333 ENCEOESCRS 135.0 (1R80)F HE
340 228 (FR93) 0 130.0 E 127.7 1280 1294 1288 1, , MRS
33.0 +— N[
\\\\ 125.0 TN o
32.0 A § 120.0 A o
31.0 N L ~— : : 1250 BN Ll W :
A H30KF FH HE HE H2E AT H30KF ¥ B H¥ HE
H29 H#E (E) fE81 PEss PRo3 H29 () fBe1 [Ess [Re3
H29=>FHE +1, 000/ ( +3.05%) FEE=>FHE +2000 H2O=SFHEATS 900MH (A10.43%) FFEE=SFEER +300M
/B8
Ne3 (Fr1520073 ) ems Ne4 (Fr{F30075 F1) mwse
:gg'g °c34 (P81} +3,500M 1809 17510 (BR&1) +5,600M
320.0 - (BR85) +2,300 460.0 N (BR85) +3,700M
310.0 \ (R89)FHE 440.0 Q\\% (R8P HE
0 LR en : (fR93}A1,800M 0 R (fR93)A 2,500/
300.0 1 % : : 420.0 § 3974 3983 BB A01T 4o,
2900 =N T 4000 +N—=
280.0 ‘% L I 3800 ,.._§ I
270.0 c :
260.0 :% el . . : | . ; . 360.0 N el . ; : - - :
A H30KF TH HE HE HE AT H30RF P HE HE HE
H29 M () fBs1 BR85 [Ro3 H29 i () fE81 FEss [R93

H20=>FH A28, 100 (A11.67%) RMFEE=TFHRE +600M

H29=>FRIEAG2, 800F (A13.62%) FFEE-STFHE +800M




RHNBEWERRRAKRA FHROFEIPPER RIEHHE [ETIL7r—2X4] 0% 2 B
s 2

(Efs+XESH] (B FH)
1 45 AR No.| FR18 F£&w A | AH29 [H3ogrsa 2 (3 BW Be1{ W IRS5|HW RI3
. 1[0-335M|0-153.05M@| 21.0] 22.7 228 22.8] 22.8] 22.8
65 LTSk ENESE | 2| 1005@| 220.05M| 158.4] 1475 147.8 149.2| 148.7| 147.1
* ERWADH 3| 2005A| 320.05m@| 290.0] 254.2 254, 7 258.2| "257.0 252.9
4 | 3005M] #5445 35|  421.6] 3609 361.6 367.2] 365.3] 358.7

Ne1 (FT1§0-335 1) mex Ne2 (Fr£10085 A1) sxse

25.0

160.0

2.0 (BR81)+0M (BR81) +1.400F
. {fR8s)+0M 155.0 (FE85) +900F9

230 23;7 22.8 228 228 228 P ) [Rao) 7 53
22.0 515 - {f#93)+0M 150.0 g (BRa93) A 700
21.0 4

=
20.0 -—% 145.0 R
100 4B [ . . ; : 1400 BN Lol , : : :

A H30KF FE HE HE BEE A H30/F FH 2¥ B2 2w

H29 X4 (%) fs1 [Ess [B93 H29 Xi# (3R) BRs1 [Bes BR93

H29=F %3 +1, 8001 ( +8.57%) FFE#E->FHIE +100M H29=> T HIR A0, 600 (A6. 69%) MFX#E>FHE +3000
A=
Ne3 (Fr152005 H) exse Ned (FT1§30075 A1) mwse
2323 250G (1881 +3,500( 4400 751% (81} +5,600F
] (FR85) +2,300M 4200 (FR85) +3,7009

zig.g - (Reo)PEE 400.0 (fRe9)FEE
260: 0 . - 2547 12582 257.0 5004 (R93)A1,800M 380.0 NEEEE SETE 1 : : (BR93} 42,900
250.0 - Be 360.0 \\\ ; R —
240.0 - 340.0 §
2300 N L : : : . . : 320.0 Ll . : : ,

AT H30/F FH HE HE HE A H308F FH HE HE RE

H29 i () fRs1 PR8s PR93 H29 H# (3E) fBs1 FBss [Ro3

H29=> B HIFEA35, 300 (A12.17%) HEE>TFRE +500/ H29=F BHAG0, 000F (A14, 23%) MFEE=>FEE +700M




